'\39 ou 4! ;{\ T
MC’H & )*‘? éi
_2 /é / 20 { 2
O T - \ st sl t /3)
@ W‘JQ AV\ B : o,\E { Al : VQ‘ ‘réw ¢
Prove that [T P( Ah) = p(i)

i”‘% &\) L{?;% (\ Ak - Bh/ Qﬂ?\f‘ (’é\ ﬁ BQ E:, BE % . C Bhé %)M"

zn

;,a % kZn W e

T s e (O (A = R [ = ey P8

- H( A%) < i P(An)  bewon B SA

V\)PAI

W Lt U A= C;m, Cn 2 Oy

kzw

pey= P ()] Ve l(ﬂw = Vi 0(Cn)

“ i fm

- ( Uhn) = \T\‘("’\ ‘\? (AV\} b o coiin
W

V\"” k7n

F\/mm (0‘3 (\Arj i %7) ; :a yv‘;. ?fv’é:\} ::, V{g} {m Q‘m P( (\V\)

iy : i STy

~—

i PCAy = P

@) Pove dr PCASY)= PLA*ICE)- 2p(ADE)

PAAE) P((A\V}U(B\ﬁ) PLA\\%HP(@\M
( N U\\\%) ond {B\(\/ DY Thut .;uiﬁf exclpswe 31

= P OANLAN)) + PO BN (BAR))
= P = P(AOY+ 7CB) = PR N
p(A) 4 PLE) ~ 2P(h0 E)

2 (hnk) >




|

et B be the prlaviltly dhat presos A TS right.

plAag) = 0.¢ ‘
pA)= 03y = =pA) = PA)= 0. b
plge)=o 05 = (—pe) = POy = 0.6t

TM’ Pm)ya\i@'l K‘\"W Hhok 4 v 0\"(},@1/?‘ ﬁ.i; O hosern Shia Aot {}’}E Lt

—

poyrons g 5 POANEE)
plACORS) = iz;}<‘,(}(%()§)6) - (D(At)@>

= - P pCe) — PAOE)
O 2 i

= 0-2




